
SJN-203/10 (  1  ) [P.T.O.]

Note : Attempt all the five questions. One question from

each unit is compulsory.  Marks are indicated against

each question.

lHkh ik¡p iz'uksa ds mRRkj nhft,A izR;sd bdkbZ ls ,d iz'u djuk

vfuok;Z gSA izR;sd iz'u ds le{k vad fn;s x;s gSaA

Unit-I / bdkbZ&I

1. (a) Discuss the reaction mechanism of

nucleophilic aromatic substitution. [4]
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ukfHkd Lusgh ,sjkseSfVd izfrLFkkiu dh fØ;kfof/k

le>kb;sA

. (b) Write synthesis and uses of D.D.T. [3]

Mh-Mh-Vh- dk la'ys"k.k o mi;ksx fyf[k,A

OR/vFkok

(a) Explain the reaction mechanism of E1 and

E2. [4]

E1 o E2 dh fØ;kfof/k le>kb;sA

. (b) How would you distinguish between SN1 and

SN2 reaction mechanism ? [3]

SN1 ,oa SN2  fØ;kfof/k esa vki dSls vUrj djsaxs \

Unit-II / bdkbZ&II

2. (a) Give two reactions of phenol which support

acidic character. [3]

fQukWy ds vEyh; xq.k n'kkZus ds i{k esa nks vfHkfØ;k

fyf[k,A

(b) Explain the reaction of glycol with different

oxidising agents. [2]
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Xykbdky dh fofHkUUk vkWDlhdkjdksa ds lkFk vfHkfØ;k

dks le>kb;sA

(c) What is Victor Meyer's method ? [2]

foDVj es;j dh fof/k D;k gS \

OR/vFkok

(a) Give reaction of glycerol with oxalic acid at

different temperature. [2]

fXyljkWWy dh vkWDtsfyd vEy ds fHkUUk&fHkUUk rki ij

gksus oyh vfHkfØ;k le>kb;sA

. (b) Explain the following reactions : [5]

fuEufyf[kr vfHkfØ;k dks le>kb;s %

(i) Claisen rearrangement

Dyslsu iquO;ZOkLFkk

(ii) Pinacol-pinacolones rearrangement

fiusdky&fiusdkyksu iquO;ZoLFkk

(iii) Liebermann's nitroso reaction

yhcjeku ukbVªkslks vfHkfØ;k
[P.T.O.]
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Unit-III / bdkbZ&III

3. (a) Why aldehyde are more reactive than

Ketones ? [3]

,sfYMgkbM dhVksu dh rqyuk esa vf/kd fØ;k'khy D;ksa

gksrs gSa \

(b) Complete the following reactions : [4]

fuEufyf[kr vfHkfØ;kvksa dks iw.kZ dhft, %

(i) 2 2(RCOO) Ca (HCOO) Ca 

(ii) Zn/Hg
HCl

RCHO 4H 

(iii) 6 5 3 2C H CHO (CH CO) O

CH COONa3
180



(iv) OH
3 3CH CHO CH CHO 



OR/vFkok

Write the mechanism of the following : [7]

fuEufyf[kr vfHkfØ;k dh fØ;kfof/k fyf[k, %
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(a) Cannizzaro's reaction

dsfutkjks vfHkfØ;k

(b) Mannich reaction

efu'k vfHkfØ;k

(c) Reformatsky's reaction

fjQkjeSVLdh vfHkfØ;k

Unit-IV / bdkbZ&IV

4. (a) Explain the effect of temperature on ,   and

  hydroxy acid. [2]

,   vkSj   gkbMªkDlh vEy ij rki ds izHkko dks

le>kb;sA

(b) What is Biuret test ? [2]

ckb;wjsV ijh{k.k D;k gS \

(c) Chloroacetic acid is more stronger than acetic

acid. Why ? [2]

Dyksjks ,lhfVd vEy ,lhfVd vEy ls T;knk izcy

gSA D;ksa \

[P.T.O.]



SJN-203/10 (  6  )

OR/vFkok

Write notes on the following : [6]

fuEufyf[kr ij fVIIkf.k;k¡ fyf[k, %

(a) Hell-Volhard-Zelinsky reaction

gsy&oksYgkMZ&tsfyUldh vfHkfØ;k

(b) Wohler Synthesis

Ogksyj la'ys"k.k

(c) Esterification

,LVjhdj.k

Unit-V / bdkbZ&V

5. What is Diazotisation ? How is Benzene diazonium

chloride prepared ? Write a note on coupling reaction

of diazo group. [6]

Mkb,stksVhdj.k D;k gS \ csathu Mkb,stksfu;e DyksjkbM dSls

cuk;k tkrk gS \ Mkb,tks lewg dh ;qXeu vfHkfØ;k ij ,d

fVIi.kh fyf[k, A

OR/vFkok
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(a) Write reduction of nitrobenzene in acidic,

alkaline and neutral medium. [3]

vEyh;] {kkjh; ,oa mnklhu ek/;e esa ukbVªkscsUthu dk

vi?kVu fyf[k,A

(b) How would you distinguish primary, secondary

and Tertiary amine. [3]

izkFkfed] f}rh;d vkSj r`rh;d ,sehu esa vki dSls

vUrj djsaxs \

 ----x----


